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T = 10 10 s s
1 goooooooooooooooooooboobooo 100 0

2 doo0ooooox0ooooon) 60 0 30 10
3 O0@O0O0O0ooooooooog PARTI 60 0 30 10
4 O0@OO0O00ooooboogod PARTI 60 0 30 10
5 000 odooooooood 60 0 30 10
6 goooooooooooooo 60 0 30 10
7 goooooo 60 0 30 10
8 goooooooooo 60 0 30 10
9 ooo 60 0 30 10
10 goooogoono 60 0 30 10
11 goooogobooooond 60 0 30 10
12 ooono 60 0 30 10
13 goooooooo 60 0 30 10
14 gooooooooooooo 60 0 30 10
15 Joddooooooonoooodonodd partl 60 0 30 10
16 0000000 o0000o0ooooonDon partii 60 0 30 10
17 ooo 60 0 30 10
18 ooo 60 0 30 10
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